
26RN0100

20RN350517RN5200 17RN5201

29RN5201

10RN5205

29RN5200

1

2

3

4

5

6

77

60 25 308 155 

60 25 370 229 

60 25 370 230 

77 01 469 502 

77 00 805 494 

60 25 370 493 

60 25 60 25 370 494 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Tie Rod Left 

Tie Tie Rod Right 

th:M12x1.25 RHT  cp:1/5 cs:Ø15,7 do:Ø38,5 

c:Ø12,1 th:F14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1 RHT L:255mm 

L:352mm  

 

 

10RN5205 

17RN5200 

17RN5201 

20RN3505 

26RN0100 

29RN5200 

29RN5229RN5201 

10RN5205

26RN0100

20RN3505



1

2

3

4

5

6

77

8

40 16 047 93R 

54 50 527 37R 

48 52 003 68R 

48 52 083 55R 

48 52 113 75R 

82 01 079 463 

82 00 82 00 242 025 

82 00 041 166 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock For TCA 

Silentblock For TCA 

c:Ø18   do:Ø38,35 

 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:229,5mm 

L:248mm  

di:Ø12 do:Ø33di:Ø12 do:Ø33,1 

di:Ø12,2 do:Ø58 

10RN5542 

10RN5560 

17RN5560 

17RN5561 

20RN5560 

26RN5550 

38RN5538RN5541 

38RN5542 

26RN5550

38RN5541

38RN5542

26RN5550

38RN5542

20RN556017RN5560 17RN5561

10RN5542

38RN554238RN5542

10RN5560

10RN5542

20RN5560

38RN5541

10RN5560



20RN3400
17RN3500 17RN3600

29RN360029RN3500

1

2

3

4

5

6

77

8

9

10

77 01 472 038 

77 01 467 273 

77 01 467 274 

77 01 470 766 

77 01 470 765 

77 01 467 271 

777 01 469 777 

77 00 799 404 

77 01 467 271 

77 01 467 272 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial JointAxial Joint 

Stabiliser Link 

Tie Rod Left 

Tie Rod Right 

c:Ø16    

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:MM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM12x1 RHT L:241mm 

th:MM12x1 RHT L:th:MM12x1 RHT L:244mm 

L:68mm Plastic 

 

 

10RN2000 

17RN3500 

17RN3600 

17RN5500 

17RN5501 

20RN3400 

20RN340520RN3405 

26RN3410 

29RN3500 

29RN3600 

10RN2000

26RN3410 26RN3410

20RN3400

20RN340520RN3405

10RN2000

17RN5501 17RN5500



3

4

5

6

7

8

99

10

11

17

7701 471 126 

7701 471 127 

7701 047 415 

7701 047 416 

77 00 799 404 

7701 472 120 

77701 472 734 

7701 471 143 

7701 472 113 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

Axial Joint 

Axial JointAxial Joint 

Axial Joint 

Axial Joint

Strut Mount 

 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

L:68mm Plastic 

th:MM12x1.0 RHT L:303,5mm 

th:MMth:MM14x1,5 RHT L:295mm 

th:MM14x1,5 RHT L:241,5mm 

th:MM12x1.0 RHT L:303,5mm 

17RN3800 

17RN3801 

17RN5520 

17RN5521 

26RN3410 

20RN3410 

20RN320RN3415 

20RN3420 

20RN3605

45RN2000 

 

26RN3410 26RN3410

45RN2000

-> 09/2008-> 09/2008

45RN2000

20RN3420

20RN3605

17RN3801

17RN552117RN5520

17RN380117RN3800

17RN3800

20RN3605

20RN3410
17RN552117RN5520

20RN3410

20RN3415
17RN552117RN5520

20RN3415

20RN3420



1

2

12

13

14

15

116

77 01 472 038 

77 01 468 411

82 00 197 179 

82 00 197 187  

82 00 197 187 

82 00 197 179 

777 00 424 399 

Ball Joint 

Ball Joint

TCA Left 

TCA Right 

TCA Right 

TCA Left 

Silentblock Silentblock for TCA 

c:Ø16    

c:Ø16

    

 

 

di:Ø12 do:Ø45,5 

10RN2000 

10RN2001

30RN2000 

30RN2001 

30RN2005 

30RN2006 

38RN200038RN2000 

30RN200530RN2006

10RN2000

38RN2000

10RN2000

38RN2000

10RN2001

30RN2001 30RN2000 

10RN2001



26RN5550
26RN0510

2.0 16V Sport2.0 16V Sport

20RN5550
17RN5551 17RN5550

17RN554117RN5540

20RN5550

26RN5550

38RN5544 10RN5542

1

2

3

4

5

6

77

8

9

40 16 047 93R 

77 01 474 795 

77 01 474 796 

77 01 475 843 

77 01 475 842 

77 01 475 841 

82 00 002 82 00 002 870 

82 01 079 463 

82 00 183 569 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser LinkStabiliser Link 

Stabiliser Link 

Silentblock for TCA 

c:Ø18   do:Ø38,35 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:307mm 

L:280mm L:280mm  

L:248mm  

di:Ø12,1 do:Ø35,8 

10RN5542 

17RN5540 

17RN5541 

17RN5550 

17RN5551 

20RN5550 

26RN026RN0510 

26RN5550 

38RN5544 

10RN5542 38RN5544

26RN0510



26RN5550

20RN556017RN5560 17RN556120RN5560

26RN5550

10RN5542

30RN5547 

EXC. 1.6 RS 

1

2

3

4

5

6

77

8

9

40 16 047 93R 

48 52 003 68R 

48 52 083 55R 

48 52 113 75R 

82 01 079 463

54 50 557 11R 

54 50 468 54 50 468 17R  

82 00 242 025 

82 00 041 166 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link

TCA Left 

TTCA Right 

Silentblock For TCA 

Silentblock For TCA 

10RN5542 

17RN5560 

17RN5561 

20RN5560 

26RN5550

30RN5546 

30RN5530RN5547 

38RN5541 

38RN5542 

10RN5542

38RN5541
30RN5546 

EXC. 1.6 RS 

38RN5541

38RN554238RN5542

c:Ø18   do:Ø38,35 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:229,5mm 

L:248mm

  

di:Ø12 do:Ø33di:Ø12 do:Ø33,1 

di:Ø12,2 do:Ø58 



1

2

3

4

5

6

77

77 01 461 331 

77 01 461 332 

77 01 463 230 

77 01 463 229 

77 01 461 141 

77 01 464 313 

777 01 463 025 

Ball Joint Lower 

Ball Joint Upper 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

Axial JointAxial Joint 

th:M12x1.25 RHT  cp:1/5 cs:Ø14,45  

th:M12x1.25 RHT  cp:1/5 cs:Ø15,7  

th:M12x1.25 RHT  cp:1/5 cs:Ø14,45  

th:M12x1.25 RHT  cp:1/6 cs:Ø14,9  

c:Ø12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:191mm 

 L:220mm L:220mm 

10RN5000 

10RN5001 

10RN5200 

10RN5201 

17RN2000 

20RN5200 

20RN520520RN5205 

20RN520517RN2000 17RN200020RN5205

20RN520017RN2000 17RN2000

10RN5001

10RN5201

10RN5000

20RN5200

10RN5001

10RN5000

10RN5200

10RN5201

10RN5200



20RN520017RN2000 17RN2000

10RN5201

20RN5200

10RN5200

10RN5201

10RN5200

1

2

3

4

77 01 463 230 

77 01 463 229 

77 01 461 141 

77 01 464 313 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

th:M12x1.25 RHT  cp:1/5 cs:Ø14,45  

th:M12x1.25 RHT  cp:1/6 cs:Ø14,9  

c:Ø12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:191mm 

10RN5200 

10RN5201 

17RN2000 

20RN5200 



26RN0100

20RN350517RN5200 17RN5201

29RN5201

10RN5205

29RN5200

1

2

3

4

5

6

77

60 25 308 155 

60 25 370 229 

60 25 370 230 

77 01 469 502 

77 00 805 494 

60 25 370 493 

60 25 60 25 370 494 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Tie Rod Left 

Tie Tie Rod Right 

th:M12x1.25 RHT  cp:1/5 cs:Ø15,7 do:Ø38,5 

c:Ø12,1 th:F14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1 RHT L:255mm 

L:352mm  

 

 

10RN5205 

17RN5200 

17RN5201 

20RN3505 

26RN0100 

29RN5200 

29RN5229RN5201 

10RN5205

26RN0100

20RN3505



RENAULT
ESPACE

ESPACE IV ( JK0 ) 11/2002 -->

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 01 476 576 

77 01 049 282 

77 01 049 283 

82 00 661 217

82 00 602 619 

82 00 602 620 

 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link

TCA Left 

TCA Right 

 

th:M16X1.5 RHT  cp:1/5 cs:Ø17,9  

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

L:280mm  

10RN0510 

17RN0510 

17RN0511 

26RN0510

30RN0518 

30RN0519 

 

26RN0510

4

26RN0510

4

17RN0511

30RN0519 

10RN0510

3

17RN0510

10RN0510

1 1

6

30RN0518 

5

2



RENAULT
ESPACE

ESPACE V (JR_) 02/2015 ->

EXPRESS

EXPRESS (F40_, G40_) 07/1985  03/1998

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54 50 503 03R 

48 52 064 81R 

48 52 013 40R 

54 61 870 05R 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

10RN5700 

17RN5700 

17RN5701 

26RN5700 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
77 01 472 038 

77 01 461 141 

Ball Joint Lower 

Tie Rod End 

c:Ø16    

c:Ø12 th:MM14x1,5 RHT 

10RN2000 

17RN2000 

1

17RN2000

26RN5700

10RN200010RN2000

2

4

17RN2000

2

17RN5701

3

1

10RN5700

1

17RN5700

2
26RN5700

10RN5700



RENAULT
F4 - F6

F4 - F6 10/1962-12/1996

-

1

10RN1515

10RN1575

2

10RN1515

10RN1585

3

5

6

20RN1010 17RN1000

29RN1001

4

17RN1000

29RN1001

4

20RN1010

05 / 1978 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 01 451 904 

77 01 461 162 

77 01 461 161 

77 01 460 955 

77 00 656 318 

77 01 46 10 10 

Ball Joint Upper 

Ball Joint Lower R 

Ball Joint Lower L 

Tie Rod End 

Axial Joint 

Tie Rod 

th:M10x1.25 RHT  cp:1/10 cs:Ø11,4  

th:M12x1.25 RHT  cp:1/10 cs:Ø12,6  

th:M12x1.25 RHT  cp:1/10 cs:Ø12,6  

c:Ø11,6 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:179mm 

 

10RN1515 

10RN1575 

10RN1585 

17RN1000 

20RN1010 

29RN1001 



RENAULT
FLUENCE

FLUENCE ( B30 , L30 ) 02/2010 -->

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

40 16 090 60R 

48 52 027 10R 

48 52 046 80R 

48 52 156 12R 

54 61 800 09R 

54 61 800 02R 

54 50 54 50 140 55R 

54 50 092 07R 

54 50 092 07R * 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link 

TTCA Left 

TCA Right 

Silentblock for TCA 

th:M12x1.25 RHT  cp:1/5 cs:Ø17,2  

c:Ø11,85 th:FM14x1,5 RHT 

c:Ø11,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:214,5mm 

L:264mm  

L:274mm  

  

 

di:Ø14 do:Ø58 

10RN5610 

17RN5610 

17RN5611 

20RN5605 

26RN5610 

26RN5615 

30RN530RN5610 

30RN5611 

38RN5611 

26RN5610
26RN5615

274 mm

4
20RN560517RN5610 17RN5611

30RN561130RN5610

2 3

26RN5610

87

5 6

38RN5611

9

10RN5610

110RN5610

1

38RN5611

264 mm

26RN5615

274 mm

6

20RN5605



RENAULT
FUEGO

FUEGO (136_) 02/1980 - 10/1985

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

77 01 461 331 

77 01 461 332 

77 01 461 141 

77 01 463 025 

77 01 453 465 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

Coupling Rod 

th:M12x1.25 RHT  cp:1/5 cs:Ø14,45  

th:M12x1.25 RHT  cp:1/5 cs:Ø15,7  

c:Ø12 th:MM14x1,5 RHT 

 L:220mm 

  

10RN5000 

10RN5001 

17RN2000 

20RN5205 

26RN4000 

4

20RN520517RN2000 17RN2000

3

20RN5205

3

1

10RN5001

26RN4000

10RN5000

2

5

10RN5001

2

10RN5000

26RN4000

5



RENAULT
KANGOO

KANGOO I (KC0/1)
KANGOO I EXPRESS (FC0/1)
KANGOO I RAPID (FC0/1 )

06/1997 - 01/2008

-

12
13

NO ASMETAL CODE MEASURES OEMDESCRIPTION

4

5

6

7

8

9

110

11

12

13

19

77 01 470 766 

77 01 470 765 

77 01 475 843 

77 01 475 842 

77 01 472 120 

77 01 469 502 

777 01 470 763 

77 01 472 113 

77 00 799 404 

77 00 437 136

77 00 829 529 

 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial Joint 

Axial JointAxial Joint 

Axial Joint 

Stabiliser Link 

Stabiliser Link

Strut Mount 

 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:303,5mm 

th:MM12x1 RHT L:255mm 

th:MM12x1 RHT L:266,5mmth:MM12x1 RHT L:266,5mm 

th:MM12x1.0 RHT L:303,5mm 

L:68mm Plastic 

L:257mm  

17RN5500 

17RN5501 

17RN5550 

17RN5551 

20RN3410 

20RN3505 

20RN3620RN3601 

20RN3605 

26RN3410 

26RN5600

45RN2000 

 

19

26RN3410 26RN3410

26RN5600

4x4

10

11

20RN3601

20RN3605

17RN5500

17RN555017RN5551

5 4

67

17RN5501

MS
-- > 02/1999

MS
03/1999 ->

PS
02/1999 -->

20RN3605

9
20RN350520RN3505

20RN3601

17RN5500

5 4

17RN5501

13

26RN5600

45RN200045RN2000

4x4

8
20RN3410 17RN555017RN5551

67

PS
03/1999 ->

20RN3410



RENAULT
KANGOO

KANGOO I (KC0/1)
KANGOO I EXPRESS (FC0/1)
KANGOO I RAPID (FC0/1 )

06/1997 - 01/2008

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

6

7

14

115

16

17

18

77 01 472 038 

77 01 468 411 

82 00 255 760 

77 01 475 843 

77 01 475 842

82 00 197 187 

82 00 82 00 197 179  

82 00 197 187 

82 00 197 179 

77 00 424 399 

c:Ø16    

c:Ø16    

c:Ø16   do:Ø38,35 

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT

 

  

 

di:Ø12 do:Ø45,5 

Ball Joint 

Ball Joint 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left

TCA Left 

TTCA Right  

TCA Left 

TCA Right 

Silentblock for TCA 

10RN2000 

10RN2001 

10RN5540 

17RN5550 

17RN5551

30RN2000 

30RN2030RN2001  

30RN2002 

30RN2003 

38RN2000 

17RN555017RN5551

67

PS
4x4

-
10RN2000

11

10RN2000

38RN2000

15

18

30RN2001 

14

30RN2000 

M10

3

10RN5540

4x4

3

10RN5540

4x4

30RN200330RN2002 38RN2000

171816

22

10RN200110RN2001

M12



RENAULT
KANGOO

KANGOO II GRAND KANGOO (KW0/1)
KANGOO II EXPRESS / COMPACT / MAXI (FW0/1)
KANGOO II BE BOP (KW0/1)

02/2008 -->
02/2008 -->
02/2009 - 01/2012

-

26RN5605

5

20RN5605
17RN5606 17RN5605

4 3

6

10RN5605

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

82 00 586 567 

82 00 586 561 

77 01 478 408 

77 01 478 407 

77 01 478 406 

82 00 669 065 

82 00 82 00 242 025 

82 00 041 166 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock For TCA 

Silentblock For TCA 

c:Ø20    

c:Ø20    

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:214,5mm 

L:283mm  

di:Ø12 do:Ø33di:Ø12 do:Ø33,1 

di:Ø12,2 do:Ø58 

10RN5605 

10RN5606 

17RN5605 

17RN5606 

20RN5605 

26RN5605 

38RN5538RN5541 

38RN5542 

10RN5606

2

38RN5541

7

38RN5541

38RN5542

8

38RN5542

6

20RN5605



RENAULT
KADJAR

KADJAR (HA_, HL_) 06/2015 -->

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54 50 404 45R 

54 61 8CY 00A

54 50 14E A0B 

54 50 04E A0B 

 

Ball Joint 

Stabiliser Link

TCA Left 

TCA Right  

c:Ø20   do:Ø41,3 

L:284mm  

10NS1000 

26NS1200

30NS1000 

30NS1001 

 

2

26NS1200

30NS1001 

 

 

26NS1200

10NS1000

1

4

10NS1000

1

30NS1000 

 

 

3



RENAULT
KOLEOS

KOLEOS (HY) 09/2008 -->

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54 50 404 45R 

D8 64 0JY 00A 

D8 52 0JY 00A 

48 52 192 04R 

54 66 8JD 00A 

54 61 8JD 00A 

54 50 0JY 00A54 50 0JY 00A 

54 50 1JY 00A 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Silentblock Silentblock for TCA 

Silentblock for TCA 

c:Ø20   do:Ø41,3 

c:Ø11,7 th:FM14x1,5 RHT 

c:Ø11,7 th:FM14x1,5 RHT 

th:MM22x1.5 RHT L:234mm 

L:299mm  

L:299mm  

di:Ø32,5 di:Ø32,5  

di:Ø12,2 do:Ø58 

10NS1000 

17RN1015 

17RN1016 

20NS1000 

26NS1000 

26NS1001 

38NS38NS1000 

38NS1001 

20NS1000 20NS1000
17RN101617RN1015

10NS1000

38NS1000

38NS1001

4
2 3

5 6

1

7

8

10NS1000

1

26NS100126NS1000



RENAULT
LAGUNA

LAGUNA I ( B56, 556 )
LAGUNA I GRAND TOUR ( K56 )
LAGUNA I ESTATE

11/1993 - 03/2001
09/1995 - 08/2002
09/1995 - 08/2002

-

5

4

1

26RN0100

20RN0500
17RN0500 17RN0501

10RN0500

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

77 00 421 804 

60 00 022 737 

60 00 022 736 

60 00 022 819 

77 00 805 494 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

th:M12x1.25 RHT  cp:1/5 cs:Ø14,6 do:Ø38,35 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:267mm 

L:352mm  

10RN0500 

17RN0500 

17RN0501 

20RN0500 

26RN0100 

3

5

26RN0100

10RN0500

20RN0500



RENAULT
LAGUNA

LAGUNA II  ( BG0, 5BG1 ) 03/2001 - 10/2007

5

4

11

26RN0510

20RN0510

10RN0510

30RN0511 

 

 

17RN0510 17RN0511

5

2 3

7

26RN0510

20RN0510

10RN0510

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

77 01 476 576 

77 01 049 282 

77 01 049 283 

77 01 472 766 

82 00 661 217

82 00 602 612 

54 50 020 29R54 50 020 29R 

 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link

TCA Left 

TTCA Right 

 

th:M16X1.5 RHT  cp:1/5 cs:Ø17,9  

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:210,5mm 

L:280mm  

10RN0510 

17RN0510 

17RN0511 

20RN0510 

26RN0510

30RN0510 

30RN030RN0511 

 

-

30RN0510 

 

 

6



RENAULT
LAGUNA

LAGUNA III  ( BT0/1, KT0/1 )
LAGUNA III  GRANDTOUR ( KT0/1 )
LAGUNA III COUPE ( DT0/1 )

10/2007 -->
10/2007 -->
10/2007 -->

-

5

4

1

26RN051526RN0515

20RN051520RN051517RN0515 17RN0516

10RN0515

30RN5615 

 

 

EXC. 1.5D  1.6i 

10RN0515

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

40 16 000 04R 

48 52 000 01R 

48 52 000 02R 

48 52 100 01R 

54 61 800 01R

54 50 100 08R 

54 50 000 54 50 000 01R 

54 50 100 09R 

54 50 000 02R 

 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

 

th:M12x1.25 RHT  cp:1/5 cs:Ø15,7  

c:Ø13,85 th:FM14x1,5 RHT 

c:Ø13,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:186,5mm 

L:295mm  

10RN0515 

17RN0515 

17RN0516 

20RN0515 

26RN0515

30RN0514 

30RN030RN0515 

30RN5614 

30RN5615 

 

3

9

5

30RN5614 

 

 

EXC. 1.5D  1.6i 

1.5D  1.6i 
1.5D  1.6i 

8

30RN0515 

 

 

7

30RN0514 

 

 

6



RENAULT
LATITUDE

LATITUDE ( L70 ) 07/2010 -->

3

26RN051526RN0515

17RN0515 17RN0516

1 2

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

48 52 000 01R 

48 52 000 02R 

54 61 800 01R 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

c:Ø13,85 th:FM14x1,5 RHT 

c:Ø13,85 th:FM14x1,5 RHT 

L:295mm  

17RN0515 

17RN0516 

26RN0515 

-



RENAULT
LOGAN

LOGAN I ( LS )
LOGAN MCV
LOGAN PICK - UP
LOGAN VAN (EXPRESS)

09/2004 -->
04/2007 >
03/2008 >
03/2009 >

-
-
-

-

5

2 1

10 10

6 11

26DC100026DC1000

20DC100020DC100017DC1000 17DC1001

45DC1000

11

45DC1000

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

54 50 042 69R 

40 16 047 93R 

60 01 547 610 

60 01 547 611 

60 01 550 441 

82 00 277 960 

54 50 54 50 102 94R 

54 50 071 06R 

60 40 002 245 

60 01549989

60 01 547 499 

 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TTCA Right wbj 

TCA Left wbj 

Silentblock For TCA 

Silentblock For TCA

Strut Mount 

 

c:Ø18   do:Ø38,35 

c:Ø18   do:Ø38,35 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:188,5mm 

L:73,4mm Plastic 

  

 

di:Ø12,1 do:Ø37,2 

di:Ø12  

10RN5541 

10RN5542 

17DC1000 

17DC1001 

20DC1000 

26DC1000 

30DC30DC1000 

30DC1001 

38DC1002 

38DC1005

45DC1000 

 

30DC100030DC1001

78 9

38DC1002

10RN5542

38DC1005

10RN554110RN5542

1

10RN5541

4

38DC1005



LOGAN
RENAULT

LOGAN II (L8)
LOGAN MCV II

10/2012 -->
02/2013 -->

4

1

6

5

26DC1000

20DC200017DC1000 17DC1001

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

54 50 045 29R* 

60 01 547 610 

60 01 547 611 

48 52 131 72R 

82 00 277 960 

82 00 287 912

60 60 01 547 499 

 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

Mounting Axle Body

Strut MountStrut Mount 

 

 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:193mm 

L:73,4mm Plastic 

di:Ø12  

10RN5560 

17DC1000 

17DC1001 

20DC2000 

26DC1000 

38DC1005

45DC45DC1000 

 

20DC2000

10RN5560

38DC1005

10RN5560

3

26DC1000

38DC1005

7

45DC1000

7

45DC1000



RENAULT
MASTER

MASTER I 08/1980 - 07/1998

5

1

26RN110126RN1100

10RN1000

17RN100517RN1005

4

3 3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

77 01 462 692 

77 01 462 693 

77 01 462 427 

77 00 309 070 

77 00 309 071 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

Stabiliser Link Left 

Stabiliser Link Right 

th:M16x1.5 RHT  cp:1/8 cs:Ø21,3  

th:M16x1.5 RHT  cp:1/8 cs:Ø21,25  

c:Ø16,8 th:FM16x1,5 RHT 

L:127,5mm  

L:127,5mm  

10RN1000 

10RN1005 

17RN1005 

26RN1100 

26RN1101 

-

10RN1000

2

10RN100510RN1005



RENAULT
MASTER

MASTER II (_D) 07/1998 - 03/2010

9

3 1

26RN110126RN1100

10RN1110
10RN1100

17RN110117RN1100

8

5 6

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

45 00 254 

45 00 255 

44 01 910 

44 18 631 

45 01 262 

45 01 263 

444 18 780 

45 00 198 

45 00 199 

Ball Joint Upper 

Ball Joint Lower 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

th:M14x1.5 RHT  cp:1/5 cs:Ø16,1 do:Ø45,5 

c:Ø22   do:Ø43,45 

cp:1/10 cs:Ø16,4  

c:Ø24   do:Ø43,5 

c:Ø16,4 th:FM16x1,5 RHT 

c:Ø16,4 th:FM16x1,5 RHT 

th:MMth:MM14x1.5 RHT L:175,5mm 

L:127,5mm  

L:127,5mm  

10RN1100 

10RN1105 

10RN1110 

10RN1112 

17RN1100 

17RN1101 

20RN20RN1100 

26RN1100 

26RN1101 

-
UPPER

10RN1110

1

10RN1100

2 4

10RN110510RN1105
10RN111210RN1112

c:24
09/2007-->

c:24
09/2007-->

LOWER

c:22 I --> 08/2007

4

7
20RN110020RN1100



RENAULT
MASTER

MASTER III (_V) 02/2010 -->

8 1

7

26RN1120

10RN1120
38RN1030

38RN1020

17RN112117RN1120

3 4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

44 19 219 

44 23 894 

44 20 097 

44 20 098 

44 20 096 

44 19 291 

444 19 218 

44 19 217 

Ball Joint 

Ball Joint Right 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock for TCA 

Silentblock for TCA 

th:M16x1.5 RHT  cp:1/5 cs:Ø18,1 th2:M45x1.5 LHT 

th:M16x1.5 RHT  cp:1/5 cs:Ø18,1 th2:M45x1.5 RHT 

c:Ø16,4 th:FM18x1,5 RHT 

c:Ø16,4 th:FM18x1,5 RHT 

th:MM16x1,5 RHT L:253mm 

L:330mm  

di:Ødi:Ø16,2 do:Ø70 

di:Ø16,2 do:Ø49 

10RN1120 

10RN1121 

17RN1120 

17RN1121 

20RN1120 

26RN1120 

38RN38RN1020 

38RN1030 

- --> 07/2010

08/2010  --> 

5

6

26RN1120

20RN112020RN1120

1

10RN1120

8 2

7

10RN1121
38RN1030

38RN1020

1

10RN1120



RENAULT
MEGANE I
MEGANE I
BA0E, BA0V (1.4E)
BA0T (1.4 Eco)
BA0F, BA0S (1.6E)
BA0L (1.6i)
BA0G (2.0i)
BA0H (2.0 16V)BA0H (2.0 16V)
BA0, BA0A, SA0U (1.9D Eco)

01/1996 - 08/2003
01/1996 - 03/1999
01/1996 - 03/1999
01/1996 - 03/1999
01/1996 - 03/1999
07/1996 - 08/2003
01/1996 - 08/200301/1996 - 08/2003

10RN2000

30RN2011 

 

 

10RN2000

17RN550017RN5501

3 2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 472 038 

77 01 470 766 

77 01 470 765 

77 01 469 280 

77 01 469 502

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial Joint

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:254mm 

th:MM12x1 RHT L:263mm

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2000 

17RN5500 

17RN5501 

20RN3500 

20RN3600

30RN2010 

30RN230RN2011  

38RN5543 

-

SMI Steering

5
20RN360020RN3600

17RN550017RN5501

3 2

TRW Steering

4

8

20RN350020RN3500

1

7

38RN5543

1

30RN2010 

 

 

6



RENAULT
MEGANE I

BA0D, BA1H, BA0W, BA10 (1.4 16V)
BA11, BA04, BA0B, BA1J (1.6 16V)
BA06, BA12, BA1M, BA1R (1.8 16V)

03/1999-08/2003
03/1999-08/2003
01/2001-08/2003

17RN552117RN5520

2 3

SMI Steering

5
20RN552520RN5525

-

17RN552117RN5520

2 3

TRW Steering

4
20RN552020RN5520

10RN2000

30RN2011 

 

 

10RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 472 038 

7701 047 415 

7701 047 416 

77 01 472 088 

77 01 471 844

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2000 

17RN5520 

17RN5521 

20RN5520 

20RN5525 

30RN2010 

30RN230RN2011  

38RN5543 

8

1

7

38RN5543

1

30RN2010 

 

 

6



MEGANE I
RENAULT

BA05, BA1F (1.9 DCI)
BA1U (1.9 DTI)

02/2001-08/2003
02/2001-08/2003

17RN552117RN5520

2 3

SMI Steering

5
20RN552520RN5525

17RN552117RN5520

2 3

TRW Steering

4
20RN552020RN5520

10RN2001

30RN2013

10RN2001

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 468 411 

7701 047 415 

7701 047 416 

77 01 472 088 

77 01 471 844 

82 00 737 132 

82 00 782 00 737 133

77 00 840 741 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm 

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2001 

17RN5520 

17RN5521 

20RN5520 

20RN5525

30RN2012 

30RN230RN2013 

38RN5543 

8

1

7

38RN5543

1

30RN2012 

 

 

6



MEGANE I
RENAULT

BA0K, SA0K, BA0Y, SA0Y (1.9 DT)
BA08, BA0N (1.9 DTI)

01/1996-08/2003
03/1997-02/2001

10RN2001

10RN5500

10/1997 -->

--> 09/1997

10/1997 -->

10RN5500

--> 09/1997

17RN550017RN5501

4 3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

77 01 468 411 

77 00 834 918 

77 01 470 766 

77 01 470 765 

77 01 469 280 

77 01 469 502 

82 00 782 00 737 132 

82 00 737 133 

77 00 840 741 

Ball Joint 

Ball Joint Lower 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial Joint 

TTCA Left 

TCA Right 

Silentblock for TCA 

c:Ø16    

c:Ø16    

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:254mm 

th:MM12x1 RHT L:263mm 

  

 

di:Ø12 do:Ø45,3 

10RN2001 

10RN5500 

17RN5500 

17RN5501 

20RN3500 

20RN3600 

30RN230RN2012 

30RN2013 

38RN5543 

 

SMI Steering

6
20RN360020RN3600

17RN550017RN5501

4 3

TRW Steering

5
20RN350020RN3500

1

10RN2001

1

22

30RN2013

9 8

38RN5543

30RN2012 

 

 

7



RENAULT
MEGANE I
MEGANE I Cabrio
EA0D, EA1H, EA0W, EA10 (1.4 16V)
EA0F (1.6 E)
EA0G (2.0i)

03/1999-09/2003
10/1996-03/1999
04/1997-09/2003

17RN550017RN5501

3 2

SMI Steering

5
20RN360020RN3600

-17RN550017RN5501

3 2

TRW Steering

4
20RN350020RN3500

10RN2000

30RN2011

10RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 472 038 

77 01 470 766 

77 01 470 765 

77 01 469 280 

77 01 469 502

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial Joint

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:254mm 

th:MM12x1 RHT L:263mm

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2000 

17RN5500 

17RN5501 

20RN3500 

20RN3600

30RN2010 

30RN230RN2011 

38RN5543 

8

1

7

38RN5543

1

30RN2010 

 

 

6



MEGANE I
RENAULT
MEGANE I Cabrio
EA0B, EA04, EA11 (1.6 16V)
EA03, A0P, EA14 (2.0 16V)

03/1999-09/2003
11/1999-09/2003

17RN552117RN5520

2 3

ALL
SMI Steering

5
20RN552520RN5525

17RN552117RN5520

2 3

2.0 16V
TRW Steering

4
20RN552020RN5520

10RN2000

30RN2011

10RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 472 038 

7701 047 415 

7701 047 416 

77 01 472 088 

77 01 471 844

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm 

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2000 

17RN5520 

17RN5521 

20RN5520 

20RN5525

30RN2010 

30RN230RN2011 

38RN5543 

8

1

7

38RN5543

1

30RN2010 

 

 

6



RENAULT
MEGANE I
MEGANE I Classic LA
LA0E, LA0V (1.4)
LA0D, LA1H, LA10 (1.4 16V)
LA0F, LA0S (1.6 E)
LA0L (1.6i)
LA07, LA0G (2.0i)
LLA0A, LA0U (1.9 D)

09/1996-08/2003
03/1999-08/2003
09/1996-03/1999
09/1996-03/1999
09/1996-08/2003
02/2001-08/2003

17RN550017RN5501

3 2

SMI Steering

5
20RN360020RN3600

-

17RN550017RN5501

3 2

TRW Steering

4
20RN350020RN3500

10RN2000

30RN2011

10RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 472 038 

77 01 470 766 

77 01 470 765 

77 01 469 280 

77 01 469 502

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial Joint

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:254mm 

th:MM12x1 RHT L:263mm

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2000 

17RN5500 

17RN5501 

20RN3500 

20RN3600

30RN2010 

30RN230RN2011 

38RN5543 

8

1

7

38RN5543

1

30RN2010 

 

 

6



RENAULT
MEGANE I
MEGANE I Classic LA
LA06, LA12, LA1A, LA1M, LA1R (1.8 16V) 02/2001-08/2003

-

17RN552117RN5520

2 3

SMI Steering

5
20RN552520RN5525

17RN552117RN5520

2 3

TRW Steering

4
20RN552020RN5520

10RN2000

30RN2011

10RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 472 038 

7701 047 415 

7701 047 416 

77 01 472 088 

77 01 471 844

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2000 

17RN5520 

17RN5521 

20RN5520 

20RN5525 

30RN2010 

30RN230RN2011 

38RN5543 

8

1

7

38RN5543

1

30RN2010 

 

 

6



RENAULT
MEGANE I
MEGANE I Classic LA
LA05, LA1F (1.9 DCI)
LA0K, LA0Y (1.9 DT)
LA1U (1.9 DTI)

02/2001-08/2003
09/1996-08/2003
02/2001-08/2003

17RN552117RN5520

3 4

SMI Steering

6
20RN552520RN5525

-17RN552117RN5520

3 4

TRW Steering

5
20RN552020RN5520

10RN2001

10RN5500

10/1997 -->

--> 09/1997

10/1997 -->

10RN5500

--> 09/1997

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

77 01 468 411 

77 00 834 918 

7701 047 415 

7701 047 416 

77 01 472 088 

77 01 471 844

82 00 782 00 737 132 

82 00 737 133 

77 00 840 741 

Ball Joint 

Ball Joint Lower 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

TTCA Left 

TCA Right 

Silentblock for TCA 

c:Ø16    

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm 

  

 

di:Ø12 do:Ø45,3 

10RN2001 

10RN5500 

17RN5520 

17RN5521 

20RN5520 

20RN5525 

30RN230RN2012 

30RN2013 

38RN5543 

 

1

10RN2001

1

22

30RN2013

9 8

38RN5543

30RN2012 

 

 

7



RENAULT
MEGANE I
MEGANE I Classic LA
LA08, LA0N (1.9 DTI) 02/2001-08/2003

17RN550017RN5501

3 2

SMI Steering

5
20RN360020RN3600

17RN550017RN5501

3 2

TRW Steering

4
20RN350020RN3500

10RN2001

10/1997 -->10/1997 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

77 01 468 411 

77 01 470 766 

77 01 470 765 

77 01 469 280 

77 01 469 502 

82 00 737 132 

82 00 782 00 737 133 

77 00 840 741 

Ball Joint  

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial Joint 

TCA Left 

TTCA Right 

Silentblock for TCA 

c:Ø16        

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:254mm 

th:MM12x1 RHT L:263mm 

 

  

di:Ø12 do:Ø45,3 

10RN2001 

17RN5500 

17RN5501 

20RN3500 

20RN3600 

30RN2012 

30RN230RN2013 

38RN5543 

 

1

10RN2001

1

30RN2013

8 7

38RN5543

30RN2012 

 

 

6



RENAULT
MEGANE I
MEGANE I Coach
DA0D, DA1H, DA0W, DA10 (1.4 16V)
DA0B, DA04, DA11 (1.6 16V)
DA0H (2.0 16V)
DA03, DA0P, DA14 (2.0 16V)
DA0N (1.9 DTI)
DA05, DA1F (1.9 DCI)DA05, DA1F (1.9 DCI)

03/1999 -->
03/1999 -->
03/1996-11/1999
11/1999 -->
03/1997-02/2001
02/2001 -->

17RN552117RN5520

2 3

SMI Steering

5
20RN552520RN5525

-

17RN552117RN5520

2 3

TRW Steering

4
20RN552020RN5520

10RN2000

30RN2011

10RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 

8

77 01 472 038 

7701 047 415 

7701 047 416 

77 01 472 088 

77 01 471 844 

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

TCA Left 

TTCA Right  

Silentblock for TCA 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm 

 

di:Ø12 do:Ø45,3di:Ø12 do:Ø45,3 

10RN2000 

17RN5520 

17RN5521 

20RN5520 

20RN5525

30RN2010 

30RN230RN2011 

38RN5543 

8

1

7

38RN5543

1

30RN2010 

 

 

6

TRW Steering



MEGANE I
RENAULT
MEGANE I Coach
DA0F (1.6 E)
DA0G (2.0i)

03/1996-03/1999
03/1996 -->

17RN552117RN5520

4 5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

77 01 472 038 

77 01 470 766 

77 01 470 765 

7701 047 415 

7701 047 416 

77 01 469 280 

777 01 471 844 

82 00 737 134 

82 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial JointAxial Joint 

TCA Left 

TCA Right 

Silentblock for TCA 

c:Ø16    

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:254mm 

th:MM12x1 RHT L:292mmth:MM12x1 RHT L:292mm 

 

 

di:Ø12 do:Ø45,3 

10RN2000 

17RN5500 

17RN5501 

17RN5520 

17RN5521 

20RN3500 

20RN552520RN5525 

30RN2010 

30RN2011 

38RN5543 

SMI Steering

7
20RN552520RN5525

TRW Steering

10RN2000

30RN2011

10RN2000

10

1

9

38RN5543

1

30RN2010 

 

 

8

17RN550017RN5501

3 2

TRW Steering

6
20RN350020RN3500



RENAULT
MEGANE I

MEGANE I Grandtour (KA0/1) 03/1999-08/2002

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

77 01 472 038 

77 01 468 411 

7701 047 415 

7701 047 416 

77 01 472 088 

77 01 471 844 

82 00 782 00 737 134 

82 00 737 135 

82 00 737 132 

82 00 737 133 

77 00 840 741 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

TTCA Left 

TCA Right 

TCA Left 

TCA Right 

Silentblock for TCA 

c:Ø16    

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm 

  

 

 

 

di:Ø12 do:Ø45,3 

10RN2000 

10RN2001 

17RN5520 

17RN5521 

20RN5520 

20RN5525 

30RN230RN2010 

30RN2011 

30RN2012 

30RN2013 

38RN5543 

7

17RN552117RN5520

3 4

TRW Steering

Petrol

Diesel

5
20RN552020RN5520

17RN552117RN5520

3 4

SMI Steering

6
20RN552520RN5525

10RN2001

2

10RN2001

2

30RN2013

11

10
38RN5543

30RN2012 

 

 

9

10RN2000

30RN2011

10RN2000

11

1

8

38RN5543

1

30RN2010 

 

 

7



RENAULT
MEGANE I
MEGANE I Scenic
JA0K, JA0Y (1.9 DT)
JA0N (1.9 DTI)
JA0E (1.4i)
JA0F (1.6 E)
JA0L (1.6i)
JJA0G (2.0i)

01/1997 - 09/1999

17RN550017RN5501

4 3

SMI Steering

6
20RN360020RN3600

-17RN550017RN5501

4 3

TRW Steering

5
20RN350020RN3500

10RN2001

10RN5500

10/1997 -->

--> 09/1997

10/1997 -->

10RN5500

--> 09/1997

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

77 01 468 411 

77 00 834 918 

77 01 470 766 

77 01 470 765 

77 01 469 280 

77 01 469 502 

82 00 782 00 737 132 

82 00 737 133 

77 00 840 741 

Ball Joint 

Ball Joint Lower 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Axial Joint 

TTCA Left 

TCA Right 

Silentblock for TCA 

c:Ø16    

c:Ø16    

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:254mm 

th:MM12x1 RHT L:263mm 

  

 

di:Ø12 do:Ø45,3 

10RN2001 

10RN5500 

17RN5500 

17RN5501 

20RN3500 

20RN3600 

30RN230RN2012 

30RN2013 

38RN5543 

 

1

10RN2001

1

22

30RN2013

9 8

38RN5543

30RN2012 

 

 

7



RENAULT
MEGANE

MEGANE II (BM,CM,EM,GM,KM,LM,SM) 10/2003 ->

-

26RN5605

Standard Susp.Standard Susp.

26RN5605

6

PS
--> 12/2009

5
4

1 2

9

20RN554017RN5540 17RN5541

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

82 00 255 760 

40 16 047 93R 

77 01 474 795 

77 01 474 796 

77 01 474 448 

82 00 669 065 

82 00 679 06782 00 679 067 

82 00 679 063 

8200 742 906 

82 00 242 025 

82 00 041 166 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TTCA Right 

TCA Left 

Silentblock For TCA 

Silentblock For TCA 

Silentblock For TCA 

c:Ø16   do:Ø38,35 

c:Ø18   do:Ø38,35 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:214,6mm 

L:283mm  

  

 

di:Ø17  

di:Ø12 do:Ø33,1 

di:Ø12,2 do:Ø58 

10RN5540 

10RN5542 

17RN5540 

17RN5541 

20RN5540 

26RN5605 

30RN554230RN5542 

30RN5543 

38RN5540 

38RN5541 

38RN5542 

30RN554230RN5543

78

10

11

38RN5541

38RN5542

10RN5540

Ø16Ø16

10RN5540

38RN554038RN5540

10RN5542

Ø18

2

10RN5542

Ø18

20RN5540



RENAULT
MEGANE

MEGANE III ( BZ, DZ, KZ ) 11/2008 -->

-

5

26RN5615

4
3

1

20RN560520RN5605 17RN561117RN5610

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

40 16 090 60R 

48 52 027 10R 

48 52 046 80R 

48 52 156 12R 

54 61 800 02R 

54 50 140 55R 

54 50 092 54 50 092 07R 

54 50 161 01R 

54 50 003 99R 

54 50 092 07R * 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

Silentblock For TCA 

th:M12x1.25 RHT  cp:1/5 cs:Ø17,2  

c:Ø11,85 th:FM14x1,5 RHT 

c:Ø11,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:214,5mm 

L:274mm  

 

  

 

 

di:Ø14 do:Ø58 

10RN5610 

17RN5610 

17RN5611 

20RN5605 

26RN5615 

30RN5610 

30RN530RN5611 

30RN5612 

30RN5613 

38RN5611 

30RN561130RN5610

7

9
8

6

10

EXC. 2.0 F4R

2.0 F4R

30RN5613 
30RN5612 

38RN5611

10RN5610

1

10RN5610

1

10RN5610

1

10RN5610

26RN5615



RENAULT
MEGANE

MEGANE IV (B9A/M_)
MEGANE IV GRANDTOUR (K9A/M_)

11/2005 -->
04/2016 -->

-

6

1

26RN5700

5
4

20RN5700 20RN5700 17RN5701

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

54 50 472 75R 

54 50 491 24R 

48 52 064 81R 

48 52 013 40R 

 49 00 174 41R 

54 61 870 05R 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

10RN5700 

10RN5710 

17RN5700 

17RN5701 

20RN5700 

26RN5700 

26RN5700

2

10RN5710

Exc. 1.6 TCE/DCI

10RN570010RN5700

2

10RN5710

Exc. 1.6 TCE/DCI

17RN5700



MODUS
RENAULT

MODUS ( F/JP0 )
GRAND MODUS ( F/JP1 )

12 / 2004 -->
12 / 2007 -->

26RN5550

4

1

20RN5550
17RN5551 17RN5550

3

2

2

20RN5550

26RN5550

5

38RN5544

6 10RN5542

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

40 16 047 93R 

77 01 475 843 

77 01 475 842 

77 01 475 841 

82 01 079 463 

82 00 183 569 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

c:Ø18   do:Ø38,35 

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:307mm 

L:248mm  

di:Ø12,1 do:Ø35,8 

10RN5542 

17RN5550 

17RN5551 

20RN5550 

26RN5550 

38RN5544 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
77 01 472 038 

77 01 461 141 

Ball Joint 

Tie Rod End 

c:Ø16    

c:Ø12 th:MM14x1,5 RHT 

10RN2000 

17RN2000 

10RN5542

1

RAPID

RAPID ( F40,G40 ) 07 / 1985 - 03 / 1998

10RN200010RN2000

17RN2000

2

17RN2000



R4 - R5 - R6 - F4 - F6
RENAULT

R4 - R5 - R6
F4 - F6

10/1962-12/1996
10/1962-12/1996

1

10RN1515

10RN1575

2

10RN1515

10RN1585

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 01 451 904 

77 01 461 162 

77 01 461 161 

77 01 460 955 

77 00 656 318 

77 01 46 10 10 

Ball Joint Upper 

Ball Joint Lower R 

Ball Joint Lower L 

Tie Rod End 

Axial Joint 

Tie Rod 

th:M10x1.25 RHT  cp:1/10 cs:Ø11,4  

th:M12x1.25 RHT  cp:1/10 cs:Ø12,6  

th:M12x1.25 RHT  cp:1/10 cs:Ø12,6  

c:Ø11,6 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:179mm 

 

10RN1515 

10RN1575 

10RN1585 

17RN1000 

20RN1010 

29RN1001 

5

6

20RN1010 17RN1000

29RN1001

4

17RN1000

29RN1001

4

20RN1010

05 / 1978 -->



RENAULT
R8 - R10 - R16

R8 (113_)
R10 (119_)
R16 (115_)

11/1962 -12/1976
05/1966-10/1972
09/1965-08/1980

2

17RN400017RN4000

10RN151510RN1515

R16 (115_)
Chassis --> 24716

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
77 01 451 904 

77 00 504 987 

Ball Joint 

Tie Rod End 

th:M10x1.25 RHT  cp:1/10 cs:Ø11,4  

th:MM12x1 RHT 

10RN1515 

17RN4000 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

77 01 472 038 

77 01 461 141 

77 01 462 170 

77 01 462 540 

Ball Joint Lower 

Tie Rod End 

Axial Joint 

Tie Rod 

c:Ø16    

c:Ø12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:284mm 

 

10RN2000 

17RN2000 

20RN2010 

29RN2001 

R9 - R11

R9 ( L42 )
R11 ( B/C37 )

09/1981-12/1989
03/1983-07/1989

3

4

20RN2010
17RN2000

29RN2001

2

29RN2001

17RN2000

2

1

10RN200010RN2000

20RN2010



RENAULT
R12- R15 - R17

R12 ( 117 )
R15 ( 130 )
R17

10 / 1969 - 08 / 1980
03 / 1972 - 10 / 1980
03 / 1972 - 10 / 1980

3

17RN4000

--> 01/1980--> 01/1980

26RN4000

23RN4080

10RN4015

10RN4055

26RN4000

17RN4000

6

4

2

10RN4055

1

23RN4081

10RN4015

1

5

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 01 455 906 

77 01 455 905 

77 00 504 987 

77 00 571 173 

77 00 571 172 

77 01 453 465 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

Control Arm Right 

Control Arm Left 

Stabiliser Link 

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

th:MM12x1 RHT 

c:1:9 th:M10x1.25 RHT  

c:1:9 th:M10x1.25 RHT  

  

10RN4015 

10RN4055 

17RN4000 

23RN4080 

23RN4081 

26RN4000 



RENAULT
R18

R18 (134_) 11/1978 - 02/1986

-

8

20RN520517RN2000 17RN2000

6

20RN5205

6

GTS/TD/GTD/TX

 --> 07/1981

 08/1981 -->

L/TL/GTL/TS

26RN400026RN4000

9

 --> 09 / 1980

7

20RN5200
17RN1000

5

20RN5200
17RN1000

5

10RN4015

10RN4055

2

10RN4055

1

10RN4015

1

3

10RN5001

10RN5000

4

10RN5001

4

10RN5000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

77 01 468 820 

77 01 460 886 

77 01 461 331 

77 01 461 332 

77 01 460 955 

77 01 461 141 

777 01 464 313 

7701 463 025 

77 01 453 465 

Ball Joint Upper 

Ball Joint Lower 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Axial JointAxial Joint 

Axial Joint 

Stabiliser Link 

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

th:M12x1.25 RHT  cp:1/5 cs:Ø14,45  

th:M12x1.25 RHT  cp:1/5 cs:Ø15,7  

c:Ø11,6 th:MM14x1,5 RHT 

c:Ø12 th:MM14x1,5 RHT 

th:MM12xth:MM12x1.0 RHT L:191mm 

  L:220mm 

  

10RN4015 

10RN4055 

10RN5000 

10RN5001 

17RN1000 

17RN2000 

20RN520020RN5200 

20RN5205 

26RN4000 



RENAULT
R19

R19 I-II ( B/C53,L53,D53,S53 ) 01 / 1988 - 06 / 1996

-

17RN500117RN5000

2 3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

77 01 472 038 

60 00 030 047 

60 00 030 048 

77 01 465 917 

77 01 465 917 

82 00 737 134 

82 00 782 00 737 135 

77 00 840 741 

Ball Joint 

Tie Rod End 

Tie Rod End 

Axial Joint 

Axial Joint 

TCA Left 

TTCA Right 

Silentblock for TCA 

c:Ø16    

c:Ø11,9 th:MM14x1,5 RHT 

c:Ø11,9 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:262mm 

th:MM12x1.0 RHT L:272mm 

 

  

di:Ø12 do:Ø45,3 

10RN2000 

17RN5000 

17RN5001 

20RN2020 

20RN3010 

30RN2010 

30RN230RN2011 

38RN5543 

4
20RN202020RN2020

Without P.S

5
20RN301020RN3010

10RN2000

30RN2011

10RN2000

8

1

7

38RN5543

1

30RN2010 

 

 

6

Without P.S



RENAULT
R20

R20 (127_) 10/1975-12/1983

2 1

3

10RN5001

10RN5000

1981 -->   --> 19811981 -->

10RN4055

1

  --> 1981

10RN4055

10RN5001

10RN5000

-

8

20RN520517RN2000 17RN2000

5

20RN5205

5

1981 -->

  --> 1981

6

17RN400017RN4000

CHAS. No to - 160600

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

77 01 460 886 

77 01 461 331 

77 01 461 332 

77 01 460 955 

77 01 461 141 

77 00 504 987 

777 01 464 313 

77 01 463 025 

Ball Joint Lower 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Tie Rod End 

Axial JointAxial Joint 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

th:M12x1.25 RHT  cp:1/5 cs:Ø14,45  

th:M12x1.25 RHT  cp:1/5 cs:Ø15,7  

c:Ø11,6 th:MM14x1,5 RHT 

c:Ø12 th:MM14x1,5 RHT 

th:MM12x1 RHT 

th:MM12xth:MM12x1.0 RHT L:191mm 

  L:220mm 

10RN4055 

10RN5000 

10RN5001 

17RN1000 

17RN2000 

17RN4000 

20RN520020RN5200 

20RN5205 

7

20RN5200
17RN1000

4

20RN5200
17RN1000

4



R21
RENAULT

R21( B48,L48,K48,S48 )
R21 NEVEDA

03 / 1986 - 08 / 1994

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77 01 472 038 

77 01 464 037 

77 01 461 141 

77 01 464 441 

77 01 465 917 

77 01 464 015 

Ball Joint 

Ball Joint 

Tie Rod End 

Tie Rod End 

Axial Joint 

Tie Rod 

c:Ø16    

c:Ø18    

c:Ø12 th:MM14x1,5 RHT 

c:Ø12 

th:MM12x1.0 RHT L:272mm 

 

10RN2000 

10RN5100 

17RN2000 

17RN2005 

20RN3010 

29RN3001 

5

6

20RN3010
17RN2000

17RN2005

29RN3001

3

4

17RN2005

4

17RN2000

3

29RN3001

1

2

10RN2000

10RN510010RN5100

10RN2000

Gasoline

Diesel

20RN3010



RENAULT
R25

R25 ( B29 ) 04 / 1984 - 12 / 1993

R30

R30 (127_) 10 / 1975 - 03 / 1986

17RN2000 17RN2000

10RN5201

10RN5200

3

2

3

10RN5201

2

4

1

20RN520020RN5200

-
10RN5200

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

77 01 463 230 

77 01 463 229 

77 01 461 141 

77 01 464 313 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

th:M12x1.25 RHT  cp:1/5 cs:Ø14,45  

th:M12x1.25 RHT  cp:1/6 cs:Ø14,9  

c:Ø12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:191mm 

10RN5200 

10RN5201 

17RN2000 

20RN5200 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

77 01 468 820 

77 01 460 886 

44 03 661 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

th:M12x1.25 RHT  cp:1/10 cs:Ø15,8  

c:Ø12,4 th:MM14x1,5 RHT 

10RN4015 

10RN4055 

17RN6000 

10RN4015

10RN4055

17RN6000

1

10RN4055

2

3

10RN4015

2

17RN6000

3



SAFRANE
RENAULT

SAFRANE I  ( B54 )
SAFRANE II  ( B54 )

04 / 1992 - 07 / 1996
07 / 1996 - 12 / 2000

2

1

26RN0100

10RN0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
21525 02 

77 00 805 494 

Ball Joint 

Stabiliser Link 

th:M12x1.25 RHT  cp:1/5 cs:Ø14,6 do:Ø38,35 

L:352mm  

10RN0500 

26RN0100 

2

26RN0100

10RN0500



RENAULT
SCENIC 

SCENIC I  (JA_) 09/1999  09/2003-

26RN5600

RX4

17RN552117RN5520

4 5

SMI Steering

7
20RN552520RN5525

17RN552117RN5520

4 5

RX4

8
20RN560020RN5600

-

17RN552117RN5520

4 5

TRW Steering

6
20RN552020RN5520

RX4

26RN5600

9

NO ASMETAL CODE MEASURES OEMDESCRIPTION

4

5

6

7

8

9

77 01 047 415 

77 01 047 416 

77 01 472 088 

77 01 471 844 

77 01 473 443 

77 00 437 136 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

Axial Joint 

Stabiliser Link 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:286,5mm 

th:MM12x1 RHT L:292mm 

th:MM12x1 RHT L:323mm 

L:257mm  

17RN5520 

17RN5521 

20RN5520 

20RN5525 

20RN5600 

26RN5600 



RENAULT
SCENIC 

SCENIC I  (JA_) 09/1999  09/2003-

-

Ø10

RX4RX4

10RN200010RN2000

12 1

38RN554338RN5543

1

 EXC. RX4
Ø12

10RN2001

30RN2013

10RN2001

12

2

11

38RN5543

2

30RN2012 

 

 

10

3

10RN554010RN5540

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

10

11

12

77 01 472 038 

77 01 468 411 

82 00 255 760 

82 00 737 132 

82 00 737 133 

77 00 840 741 

Ball Joint Lower 

Ball Joint Lower 

Ball Joint 

TCA Left 

TCA Right 

Silentblock For TCA 

c:Ø16    

c:Ø16    

c:Ø16   do:Ø38,35

 

 

di:Ø12 do:Ø45,3 

 

10RN2000 

10RN2001 

10RN5540 

30RN2012 

30RN2013 

38RN5543 



SCENIC
RENAULT

SCENIC II (JM)
GRAND SCENIC (JM)

06/2003 ->
04/2004 ->

26RN560526RN5605

6

PS
--> 12/2009

5
4

1 2

9

20RN554017RN5540 17RN5541

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

82 00 255 760 

40 16 047 93R 

77 01 474 795 

77 01 474 796 

77 01 474 448 

82 00 669 065 

82 00 679 06782 00 679 067 

82 00 679 063 

8200 742 906 

82 00 242 025 

82 00 041 166 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TTCA Right 

TCA Left 

Silentblock For TCA 

Silentblock For TCA 

Silentblock For TCA 

c:Ø16   do:Ø38,35 

c:Ø18   do:Ø38,35 

c:Ø11,8 th:FM14x1,5 RHT 

c:Ø11,8 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:214,6mm 

L:283mm  

  

 

di:Ø17  

di:Ø12 do:Ø33,1 

di:Ø12,2 do:Ø58 

10RN5540 

10RN5542 

17RN5540 

17RN5541 

20RN5540 

26RN5605 

30RN554230RN5542 

30RN5543 

38RN5540 

38RN5541 

38RN5542 

30RN5542
30RN5543

78

10

11

38RN5541

38RN5542

10RN5540

Ø16Ø16

10RN5540

38RN554038RN5540

10RN5542

Ø18

2

10RN5542

Ø18

20RN5540

Standard Susp.Standard Susp.



SCENIC
RENAULT

SCENIC III
GRAND SCENIC III
SCENIC X-MOD

02/2009 ->
02/2009 ->
06/2013 ->

5

26RN5615

Exc. X-MODExc. X-MOD

4
3

20RN560520RN5605 17RN561117RN5610

2
26RN5615

1

30RN561130RN5610
76

10

15'' STEEL WHEELS

38RN5611
10RN5610

1

10RN5610

98

EXC. 15'' STEEL WHEELS

30RN5613 30RN5612 

1

10RN5610

1

10RN5610

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

40 16 090 60R 

48 52 027 10R 

48 52 046 80R 

48 52 156 12R 

54 61 800 02R 

54 50 140 55R 

54 50 092 54 50 092 07R 

54 50 161 01R 

54 50 003 99R 

54 50 092 07R * 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

Silentblock For TCA 

th:M12x1.25 RHT  cp:1/5 cs:Ø17,2  

c:Ø11,85 th:FM14x1,5 RHT 

c:Ø11,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:214,5mm 

L:274mm  

 

  

 

 

di:Ø14 do:Ø58 

10RN5610 

17RN5610 

17RN5611 

20RN5605 

26RN5615 

30RN5610 

30RN530RN5611 

30RN5612 

30RN5613 

38RN5611 



RENAULT
SCENIC

SCENIC IV (JFA)
GRAND SCENIC IV

02/2009 ->
02/2009 ->

5

1 1

26RN5700

4
3

20RN5700 17RN5701

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

 54 50 503 03R 

48 52 064 81R 

48 52 013 40R 

49 00 174 41R 

54 61 870 05R 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

10RN5700 

17RN5700 

17RN5701 

20RN5700 

26RN5700 

26RN5700

20RN5700 

10RN570010RN5700

17RN5700



RENAULT
SUPER 5

SUPER 5 (B/C40_) 10 / 1984 - 12 / 1996

-

17RN2000

2

17RN2000

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
77 01 472 038 

77 01 461 141 

Ball Joint 

Tie Rod End 

c:Ø16    

c:Ø12 th:MM14x1,5 RHT 

10RN2000 

17RN2000 

1

10RN200010RN2000



45RN2000

14

45RN2000

14

RENAULT
SYMBOL

SYMBOL I (LB0,LB1,LB2) 02/1998-02/2009

8

NO ASMETAL CODE MEASURES OEMDESCRIPTION

3

4

5

6

7

8

114

7701 047 415 

7701 047 416 

7701 472 120 

7701 472 734 

7701 472 113 

77 00 799 404

777 00 829 529  

 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

Axial Joint 

Stabiliser Link

Strut MountStrut Mount 

 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:303,5mm 

th:MM14x1,5 RHT L:295mm 

th:MM12x1.0 RHT L:303,5mm 

L:68mm Plastic 

17RN5520 

17RN5521 

20RN3410 

20RN3415 

20RN3605 

26RN3410

45RN200045RN2000 

 

26RN3410 26RN3410

7
20RN3605

17RN552117RN5520

43

MS

20RN3605

-
5

20RN3410
17RN552117RN5520

43

PS SMI Steering

-> 09/2008

20RN3410

6
20RN3415

17RN552117RN5520

43

PS TRW Steering

20RN3415



RENAULT
SYMBOL

SYMBOL I (LB0,LB1,LB2) 02/1998-02/2009

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

9

10

11

12

113

77 01 472 038 

77 01 468 411 

82 00 197 179 

82 00 197 187 

82 00 942 408 

82 00 942 407 

82 00 682 00 651 161 

Ball Joint 

Ball Joint 

TCA Left

TCA Right

TCA Right

TCA Left 

Silentblock Silentblock for TCA 

 

c:Ø16    

c:Ø16    

 

 

 

 

di:Ø12 do:Ø45,5di:Ø12 do:Ø45,5 

10RN2000 

10RN2001 

30RN2000 

30RN2001 

30RN2005 

30RN2006 

38RN200038RN2000 

10RN2000

11

10RN2000

38RN2000

1013

30RN2001 

9

30RN2000 

 --> 09/2008  

30RN200530RN2006

38RN2000

111312

2
2

10RN2001
10RN2001

 09/2008 -->   



45RN2000

RENAULT
SYMBOL

SYMBOL II (LU/1/2) 09/2008 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

77 01 468 411 

7701 047 415 

7701 047 416 

7701 472 120 

7701 472 734 

7701 472 113 

82 00 82 00 197 187 

82 00 197 179 

82 00 651 161

77 00 829 529  

 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

Axial Joint 

TTCA Right 

TCA Left 

Silentblock for TCA

Strut Mount 

 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:303,5mm 

th:MM14x1,5 RHT L:295mm 

th:MM12x1.0 RHT L:303,5mm 

  

 

di:Ø12 do:Ø45,5 

10RN2001 

17RN5520 

17RN5521 

20RN3410 

20RN3415 

20RN3605 

30RN200530RN2005 

30RN2006 

38RN2000

45RN2000 

 

-6
20RN3605

17RN552117RN5520

32

MS

20RN3605

30RN200530RN2006

38RN2000

798

11

10RN200110RN2001

4
20RN3410

17RN552117RN5520

3 10

45RN2000

10 2

PS SMI Steering

20RN3410

5
20RN3415

17RN552117RN5520

32

PS TRW Steering

20RN3415



-

SYMBOL
RENAULT

SYMBOL III (L8_) 12/2013 -->

4

1

8

5

26DC1000

20DC200017DC1000 17DC1001

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

54 50 045 29R 

60 01 547 610 

60 01 547 611 

48 52 111 05R 

82 00 277 960 

54 50 198 11R 

54 50 54 50 010 64R 

60 01 549 989 

77 00 829 529  

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TCA Left 

TTCA Right 

Mounting Axle Body 

Strut Mount 

 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:193mm 

L:73,4mm Plastic 

 

  

di:Ø12  

 

10RN5560 

17DC1000 

17DC1001 

20DC2000 

26DC1000 

30RN5560 

30RN5530RN5561 

38DC1005 

45RN2000 

20DC2000

30RN5561 

38DC1005

3

26DC1000

7

30RN5560 

6

38DC1005

9

45RN2000

9

45RN2000

10RN556010RN5560



-

TALISMAN
RENAULT

TALISMAN (XFD) 06/2015 ->

4

1 1

26RN5700

3

17RN5701

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

 54 50 503 03R 

48 52 064 81R 

48 52 013 40R  

54 61 870 05R 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right  

Stabiliser Link 

10RN5700 

17RN5700 

17RN5701  

26RN5700 

10RN570010RN5700

17RN5700

26RN5700



RENAULT
THALIA

THALIA I (LB0,LB1,LB2) 02/1998-02/2009

45RN2000

14

45RN2000

14 8

NO ASMETAL CODE MEASURES OEMDESCRIPTION

3

4

5

6

7

8

114

7701 047 415 

7701 047 416 

7701 472 120 

7701 472 734 

7701 472 113 

77 00 799 404

777 00 829 529  

 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

Axial Joint 

Stabiliser Link

Strut MountStrut Mount 

 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:303,5mm 

th:MM14x1,5 RHT L:295mm 

th:MM12x1.0 RHT L:303,5mm 

L:68mm Plastic 

17RN5520 

17RN5521 

20RN3410 

20RN3415 

20RN3605 

26RN3410

45RN200045RN2000 

 

26RN3410 26RN3410

7
20RN3605

17RN552117RN5520

43

MS

20RN3605

-
5

20RN3410
17RN552117RN5520

43

PS SMI Steering

-> 09/2008

20RN3410

6
20RN3415

17RN552117RN5520

43

PS TRW Steering

20RN3415



RENAULT
THALIA

THALIA I (LB0,LB1,LB2) 02/1998-02/2009

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

9

10

11

12

113

77 01 472 038 

77 01 468 411 

82 00 197 179 

82 00 197 187 

82 00 942 408 

82 00 942 407 

82 00 682 00 651 161 

Ball Joint 

Ball Joint 

TCA Left

TCA Right

TCA Right

TCA Left

Silentblock Silentblock for TCA 

 

c:Ø16    

c:Ø16    

 

 

 

 

di:Ø12 do:Ø45,5di:Ø12 do:Ø45,5 

10RN2000 

10RN2001 

30RN2000 

30RN2001 

30RN2005 

30RN2006 

38RN200038RN2000 

10RN2000

11

10RN2000

38RN2000

1013

30RN2001 

9

30RN2000 

 --> 09/2008  

30RN2005
30RN2006

38RN2000

111312

22

10RN200110RN2001

 09/2008 -->   



RENAULT
THALIA

THALIA II (LU/1/2) 09/2008 -->

45RN2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

77 01 468 411 

7701 047 415 

7701 047 416 

7701 472 120 

7701 472 734 

7701 472 113 

82 00 82 00 197 187 

82 00 197 179 

82 00 651 161

77 00 829 529  

 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

Axial Joint 

TTCA Right 

TCA Left 

Silentblock for TCA

Strut Mount 

 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:303,5mm 

th:MM14x1,5 RHT L:295mm 

th:MM12x1.0 RHT L:303,5mm 

  

 

di:Ø12 do:Ø45,5 

10RN2001 

17RN5520 

17RN5521 

20RN3410 

20RN3415 

20RN3605 

30RN200530RN2005 

30RN2006 

38RN2000

45RN2000 

 

-6
20RN3605

17RN552117RN5520

32

MS

20RN3605

30RN200530RN2006

38RN2000

798

11

10RN200110RN2001

4
20RN3410

17RN552117RN5520

3 10

45RN2000

10 2

PS SMI Steering

20RN3410

5
20RN3415

17RN552117RN5520

32

PS TRW Steering

20RN3415



RENAULT
THALIA

THALIA III (L8_) 12/2013 ->

-

4

1

8

5

26DC1000

20DC200017DC1000 17DC1001

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

54 50 045 29R 

60 01 547 610 

60 01 547 611 

48 52 111 05R 

82 00 277 960 

54 50 198 11R 

54 50 54 50 010 64R 

60 01 549 989 

77 00 829 529  

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Mounting 

TCA Left 

TTCA Right 

Mounting Axle Body 

Strut Mount 

 

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:193mm 

L:73,4mm Plastic 

 

  

di:Ø12  

 

10RN5560 

17DC1000 

17DC1001 

20DC2000 

26DC1000 

30RN5560 

30RN5530RN5561 

38DC1005 

45RN2000 

20DC2000

10RN5560

30RN5561 

38DC1005

10RN5560

3

26DC1000

7

30RN5560 

6

38DC1005

9

45RN2000

9

45RN2000



RENAULT
TRAFIC

TRAFIC I 03/1980-03/2001

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
77 01 461 667 

77 01 461 770 

Ball Joint 

Tie Rod End 

th:M16x1.5 RHT  cp:1/10 cs:Ø17,6  

c:Ø12,4 th:MM14x1,5 RHT 

10RN53 

17RN6000 

2

1

2

17RN6000

10RN5310RN53

17RN6000



RENAULT
TRAFIC

TRAFIC II 04/2001 -->

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

77 01 476 576 

77 01 477 385 

77 01 049 282 

77 01 049 283 

77 01 473 333 

82 00 661 217 

82 00 054 00382 00 054 003 

82 00 054 006 

93 861 802 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TTCA Left 

TCA Right 

Stabiliser Mounting 

th:M16X1.5 RHT  cp:1/5 cs:Ø17,9  

th:M16x1.5 RHT  cp:1/5 cs:Ø17,9  

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:261,5mm 

L:280mm  

  

 

di:Ø23  

10RN0510 

10RN5310 

17RN0510 

17RN0511 

20RN0520 

26RN0510 

30RN030RN0516 

30RN0517 

38OP7000 

38OP7000

6

9

5

38OP7000

26RN0510

20RN052020RN0520

10RN0510

17RN0510 17RN0511

6

3

1

4

26RN0510

 --> 10/2006
Sheet Metal

10RN5310

2

12/2006 -->
Cast Iron

10RN0510

30RN0517 

 

 

30RN0516 

 

 1

2

87

10RN5310



1

2

3

4

5

77 01 049 282 

77 01 049 283 

77 01 473 333 

82 00 661 217 

93 861 802 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Mounting 

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:261,5mm 

L:280mm  

di:Ø23  

17RN0510 

17RN0511 

20RN0520 

26RN0510 

38OP7000 

38OP7000 38OP7000

26RN0510

20RN052020RN0520
17RN0510 17RN0511

26RN0510



1

2

3

4

5

6

77

8

9

10

77 01 472 038 

60 00 022 730 

60 00 022 731 

77 01 047 415 

77 01 047 416 

77 01 469 517 

82 00 040 82 00 040 618 

82 00 050 191 

77 01 467 218 

77 01 467 219 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link LeStabiliser Link Left 

Stabiliser Link Right 

Tie Rod Left 

Tie Rod Right 

c:Ø16    

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM12x1 RHT L:301mm 

 

10RN2000 

17RN3550 

17RN3551 

17RN5520 

17RN5521 

20RN3550 

26RN355026RN3550 

26RN3551 

29RN3550 

29RN3551 

26RN3551

20RN3550
17RN3550 17RN3551

29RN355129RN3550

10RN200010RN2000

20RN3550

17RN552117RN5520

26RN3550



1

2

3

4

77 01 475 842 

77 01 475 843 

82 00 651 161

77 00 829 529  

 

Tie Rod End Left 

Tie Rod End Right 

Silentblock for TCA

Strut Mount 

 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

di:Ø12 do:Ø45,5 

17RN5520 

17RN5521 

38RN2000

45RN2000 

 

45RN2000
38RN2000 38RN2000

17RN552117RN5520

45RN2000



26RN0510

20RN0510

10RN0510

17RN0510 17RN0511

26RN0510

10RN0510

30RN0519 

1

2

3

4

5

6

77

77 01 476 576 

77 01 049 282 

77 01 049 283 

77 01 474 076 

82 00 661 217 

82 00 602 619 

82 00 602 62082 00 602 620 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TCA Left 

TTCA Right 

th:M16X1.5 RHT  cp:1/5 cs:Ø17,9  

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:210,5mm 

L:280mm  

 

 

10RN0510 

17RN0510 

17RN0511 

20RN0510 

26RN0510 

30RN0518 

30RN030RN0519 

20RN0510

30RN0518 



26DC100026DC1000

10RN554210RN5542

1

2
40 16 047 93R 

82 00 277 960 

Ball Joint 

Stabiliser Mounting 

c:Ø18   do:Ø38,35 

L:73,4mm Plastic 

10RN5542 

26DC1000 

1

2
7701 047 415 

7701 047 416 

Tie Rod End Left 

Tie Rod End Right 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

17RN5520 

17RN5521 

17RN552117RN5520



RENAULT
ZOE

ZOE 06 / 2012 -->

-

26RN5550

38RN5541

38RN5542

26RN5550

5

10

9

20RN556017RN5560 17RN5561

10RN5542

10RN5560

3 4

1

2

10RN5560

2

10RN5542

1

20RN5560

6

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

40 16 047 93R 

54 50 527 37R 

48 52 003 68R 

48 52 083 55R 

48 52 113 75R 

82 01 079 463 

54 50 554 50 557 11R 

54 50 468 17R 

82 00 242 025 

82 00 041 166 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TTCA Left 

TCA Right 

Silentblock For TCA 

Silentblock For TCA 

c:Ø18   do:Ø38,35 

 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:229,5mm 

L:248mm  

  

 

di:Ø12 do:Ø33,1 

di:Ø12,2 do:Ø58 

10RN5542 

10RN5560 

17RN5560 

17RN5561 

20RN5560 

26RN5550 

30RN554630RN5546 

30RN5547 

38RN5541 

38RN5542 

30RN5547 

8

30RN5546 

7


